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1.

BP-~634

The diagram shows a man shiveriig when e was feeling cold.

Based on the:information; which of the following best represents the:characteristic
ofliving thirgs? _

(1) Livingthings-drow.
(3 Livingthings reproduce.

(3] LivingHiings respond fo:changes around fhisrm.

(@) Living things:need air, food:ard water to:survive:

‘Thertable shows the heighit 6F°a Gresfi bean plant over sight days.

Number.of days | Helght of green bean plant {om) |
4 | 2B

Based ori tie inforimation, what-¢an be.concluided about the-gréen bean plant?

(1) Itgrew talier:

{2) Itreproduced.

(3) Itorew towards sinlight.

@ ttbearsflowers when lts height ncréased.



3. The table shows how some animals are grouped.

Animals
X Y
Cat Frog
Bat Salamander
Sheep Toad

‘Whatis the common characteristic of the animals in-group Y?

&)
(2)
3y

ey

Abby
Baila

They have body covering of scales.
They have body covering of hairs.

They give birth to their young alive.
They ¢an live both in'water and on land.

Three pupils made a statement each as shown.

All birds have two legs.
All reptiles have folir legs:

Cathy- Al mammals have fur or hair.

Which of the statement(s) is/are correct?

(1)
(2)
(3}
(4

Abby only

Abby-and Catliy only
Bala and Cathy only
Abby, Bala.and Cathy

BP~635




. 5

| Live oniland

“Study: the How chart as shown,

Animals

T

Live.in‘water

Which:6fthe following sub-hesidings, P, Q, Rard'S, are cotrect?

BP-~636

P

R

s

)| Body sovering

of Stales

Hard buter
covering

Hss oist skif.

“ Buidy covering

of hair

@)

Hard outer
" covefing

Bady governgof hairs

- Body covering of
scalas

“5Hés"mmi‘s;tfs:kir1

Layeggs

" Givebith fo
young

Layeygs:

Giva birth to

yaung

@]

Layeggs

Give birth to

Givebiitrete. |

young

Lay eggs




Study the following flow chart.

Animais

Does it have
hard outer
- covering?

“ Dogs it live both
on land and in
. water?

Which of the following groups. of animals best represent A, B and C?

‘Does it have
three hody

parts?

A B c
{1) Bird ‘ Mammal Fish
(2} Fish Amphibian Mammal
3) Insect Amphiblan Bird
(4 |  Inseot Bird, Mammal

BP-~637
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Study thi two plants, Fand U, as shown.

Based on the information; which of the following statements about both plants
arg:cotrect?

A Both plants Have leavs.

B.  Both plants have &4 weakstémi.

G Bofhplants-are flowering plants:

D ‘Both plants reproduce by seeds;

(1) Aand B.only
) Cand D only
@ A CandDonly
{4) B.CandDonly



B.

Study the classification chart on plants W, X, Y and Z,

Plants
Grow on laneT] Grow th water
Reproduce by Reproduce by Has Does not have
seeds spores fiowers flowers
T | | l
W X Y Z

Based on the information, which of the following best represenits plani Y2

(1)

@

(3)

@

BP~639
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Which of the following statements about fungi are correct?

oo w>r

)
@
®
(4}

It responds 10.changes.

ltis 4 honh-flowering plarit.

It cannot make its own food.

It-can be-found growing on rotting Tog.

Aand Conly
A, 8 and C dnly
A, € and D orly
A;B,Cand D

Thediagram shows a life sycle-of animal F.

Based'on your observation, which:of the following stetementis incorrect?

()
@

It hag wings at adult stage.

Rt has-a four-&tage lite cycle.

fts yourg resembleshe-adult.
Ittays mafiy eggs atthe-eggstags,

7
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The diagrams show the fife ¢ycles of a mosquite and a frog.

Life eycle of a mosquits

Life cycle of a frog

Based on your observation, which of the following is comect about the life cycles of

the mosquito and frog?
Similarity Difference
{1} | Both young resemble their The young of the mosquito lives in water

aduits.

but the young of the frog lives on land.

2

Both young live in water..

The adult mosquits lays ‘eggs but the
adult frog gives birth to five young.

(3}

‘Both adults live on land only.

The mosquito has a three-stage |ife cycle

{ but the frog has a four-stage life cycle.

(4)

‘Both yaung do not resemble

their adults.

The mosquito has a foursstage life cycle
but the frog has a three-stage life cycle.

BP~641
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12 The:graph shows the number of days organism T spends at-each stage of its ifs
cyclew - & | S ts
‘Numbgrof days
-~

25

20

15 {—

10

5 3
Egg  Yound  Adult lages
Based on the informatio m, which of the following statements.isitrué about.organidm
(1). Tthas &nymiph stage iniits Jifé cyete
(2} s atits yourg stagedn the Aith day.
[3)  Itlives fortwenty'days after it is:Fatchéd from the €gg.
(4) Ittakes fifteen days fobecome an adult after itis hatohied front the egg.
13.  Esther found & cut plant partas shown if the diagram.
Based on your ebservatibn, Which &f ths following. statemiants abieut the eut plant
part sboveié hot gorrest? :
1) It containg many seeds.
(2)  Itéoitdins many spores.
{8) Itcomesifrania flowering plant
4y f[tcomesiroma plant that has a three-stage life cycle,
9
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Mary put an identical seed'in each of the Set-ups, L, M and N.
The set-ups.were placed near the window.

N\ ¢ N (

stopper

SR ,
- —-10 afr

damp 5 Codry ol damp
é-ﬁ-g.,i;——cotton -~—‘-,cotton | -,.l,.-*‘; -—cotion

Set-up L Set-up. M - Setiup N

In which of the following sef-up(s), L, M and/or N, will the seed most likely to develop
roots after some tima?

(1) Lonly

(2 Monly

(3) Land Monly
(4 LMandiN

10
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The diagram shows the differert stages of growth of a plant,

Stage W

.Sfaséri’c |

Stage Y

_ StageZ

Which of the following shows the torreckorderef stages of growth of the plant?

_'?ig.n;t

Tea

@

@

11

BP-644
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17.

The diagram shows a person standing on hls:toes on his right foot.

What is the property of the material most sultable to make part K of the shoe to
allow the person fo stand on his toeson his right foot?

(1) itis stiff.
{2) itis flexible.
{3) ltis waterproof,
{4} ltis able to float on water.
The table shows somie items classified according to the materials they are made
of.

Material A Material B Material C ‘Material D

Nail Mirror Towel Pail |
Ladder Light bulb Blanket Book cover

Which of the following shows materials, A, B, C-arid D, correctly?

A B C 3)
(1) Metal Glass Fabric Plastic
2 Rubber Cefamic Plastic Fabri¢
{3) Plastic Metal Wood Rubber
(4) Wood Rubber Ceramic Metal

12
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8. Helen warited 1o find otk thé Strength of stiings,.P, Q, Riand'S, by setting up an
expefiment ds shown, Sh hing 4 Weight 6n. edch string ofie at a tine, until it
stafted to break. ‘

- string

- |‘_‘|_ weight

She recorded Hir ohservations inthe e,

|swing 1 P | @& | R | S
Number of weights tung| | | |
| untit the string: Starled to
Lirgak

Wihich of the following best represents Tie:weakest and strongest stings?

Weakest | Strongest |
[t
()

o |50, |
o |6

1
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19.  Abar magnet was fabelled, X, Y and Z as shown in the diagram.

fray

The bar magnetwas brought near a tray of steel balls.

Which of the following:shows the most possible number of steel ball§ atfracted by
each part of thie bar magnet?

Numbér of steel balls attracted to-each part
X Y Z
(1) 8 7
{2y 4 8 7
(3} 6 7 8
(4) g 2 7

14




20.

2%

Four nngs A, B, Cand D were stacked through a wiooden sland as shiown in the.
dagram.

wodden
staiid

Based on the information, which of the following bést represenits rings:A, B,.C and

.‘?

A

o

)

Magpet

Még'r?iét: '

| Magneticobjeet

Magrist

48

Nensmagnitic:

object

Maghet:

‘Magnetic:ebject

Magnet

@

Normagnetic

object

Magnet

Magnat:

Wagretic:object

{4

Maignet

Non—rga‘gnenc

Wagrist

Nen-rrragnetic "

Which:of the following statement(s) is/are true about magnets?

A

<3
c
D

(1)
2)

)

“

‘Unlike poles of two magnets will:attract each-gther.

The-sfrength of a maghet doesnot depend onits size:
All metals: can be made Inte agnets usihg:the electrical method,
Dropping a magriet from & tieight many tiviss can cilises magnetto lose

its magnefism.

A and€ only
Aand B enly
A,

3 and D only
B+ and Gronly

BP-~648



22,

Mrs Tay prepared foir $et-ups, P, Q, R and $.. She wanited to make the identical
iron nails in edch sekup tto a temporary magnet by stroking them with a bar

magnet &s shown, twenty times.

——magnet

&= = =
iroh nail,
Set-up P Set-up Q
F N
s
- el ¥
@
Set-up R Set-ip §

Based on the information, which of the setup(s) show(s) the comect way of

magnetising the. nail?
{1} Fonly
(2} P and Gonly

(3) Qand R only
4 P.QRandS

16
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Naveen ¢ompared the magnetic:strength.of four bar. magnets E.F, Gand H. He

sloWwly mioved eachmagne

thestesl dlip. The diagram shows the distarice

bétween magnet E and the stesl £lip just bifore it was attracted by the miagnet.

magnet £

d
b

distance = 'st.e’ef clip

in.atableas shown

He repéated-the. expenmenhwnth bar magnets F,G and H and recarded the restits

agnos | DIt bebntn et
F M
6 8
H 2

Based on'the information, which of the following statemenits is correct?

(1)  Magnst His the weakest.

{2) - MagnetG.is the strongast
(3) MagnetF isweaker itian magniet G,
{4) Magret E is stronger than imignst F.

1%
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Lyfa performed a magic inck using her toy car by making it float above a box as

shown in the diagram.

Hidden magret
inthe car

Based on the information, which of following identifies poles X and Y correctly?

Pole X Pole Y
(M S Pole S Pole
(2) S Pole N Pole '
(3) N Pole S Pole
() N Pole N Pole

18
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26, Thediggranshows four objects:

Butterfly

Classify the: objects shawn tnto the Classificatior shatt .

Things

I

Living thirigs

19

2l

Nenéiving things

Score

2

P8 Stidncs EYE 2028

BP~654



Zen prepared thres set-ups, P, O and R, using identical containers. Each contained
five organisms X. Two slices of apple were placed only in set-ups P and R.

sealed with cardboard

wire netting:

s s s S 5

wire netting

i A et O V. ST SO ol S

- 3 OL
apple X apple
Set-up P Set-up Q Set-up R

Based on the information, answer thefollowing questions,

(a)

(b}

Which two set-ups should he use to find out if living things need foed to

survive?

1

Put a tick (v} in the correct box(es) to identify the variable(s) that need(s}
to be keptthe same in order-for Zen:to conduct a fair test for (&) above. [1]

Variables:

Tick {v)

Size of container

Number of organism X

Number of apple slices

20

Score

P3 Sciece EYE 2024
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27, Studyanimals X and’Y showh i the Bisgrams:

Arimal Y

(a)  Staterthe animal groups thatishithals X ahd ¥ belong to. ]
Aniitial X,

The didigrsith Shiows animal B,

1]

Seors: i

21 P3 Selefics EYE 2024



28. Study the flowchart.

Does it lay
aggs in
water?

Animals | .y

Does it have
hard outer
covering?

u

Based on the flowchart, answer the following questions.

(ay State one difference between animals S and U.

1]

(b)  State all the characteristics of animal T

22

Score A 3

P3 Stlence EYE 2024
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29

‘Study. crganisms P and Q as showrin the diagrams.

— pole

Put atick () i the correct box for eackstatement,

2

- Statemients

True

False

| &

Qrganism P hasweak stem bt organism @ has
stong steri. :

(B)

Organisi. P growis in water but:arganism, Ggrows
onfand,

(]

| Score:

" PaBolenceEYE 2024

BP-658
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30. (a) The diagrams show organisms M-and N,

Organism M Organism N

Based o your observations, state how organisms M and N reproduce. [1]

Organism M.

Organism N

Contihue on'page 25 Score 1

24 ' P3 Sdience EYE 2024




Continued from psde 24

(b} \mahplaged a Slice-of fdentical bread in each of the air-tight Bags, Kand L.
 He sphinkled afew drops of water on the bread in bag K:but-toasted-the bread:
in bag L. He leftboth he bags neara window:

| untoasted -
| breadwith—1

- aiftight——|

Gy

it

sserved:mould growing o the breadiinbag Khbiitnotonthebread.

in bag L. Givée a réasen for his ohservation, [1]

Suggestwhat Iman could have dons to prevent mouit from growifig on
the bread in bag K. ' [gh

Seore | T3

BP-660



3.

The diagram shows the life cycla-of a grasshopper.

(a)

Complete the life cycle of thé grasstiopper By drawing arrows in the

-

diagram shown. (1]
Eggs
Nymph Aduit. }
Life ¢ycle of a graj's“s_hopp‘er
(b)  Name another animal that has @ similar life cycle as-a grasshopper. (1)
Seore "

26

P3 Scishee EYE 2024
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32, Thediagrarmshows the lifé 6yels 6F 4 bulterfly:

o Iar\ea'
{18.days)

adult -
(21 days)

Life-cyele of a butterfly

(&) Atwhich stage of its life: cycTe would the butterfly be a. pest to gardeners‘?

EXP!ain..yem answer.

12

(6) How miny days doss e butteifly spend: eating in its Iifé.cycle?

!

Seore

3

27 P8 Scierics EYE2024
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The diagram shows the ditferent stages, A, B, Carid D, in the life cycle of 2 flowering
plant

" soll
t .
Stage A Stage B Stage C Stage D
(a) Atwhich stage is the plant-an adult plant? ]
(b) Atwhich stage(s) can the plant make-its own food? [1]

sese | 2

28 " P3 Soience EYE 2024
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The diagram shows one-of the stages In the lfe cyclesof a plaiit.

(a) Name the-stage of the plant's life eycle.

(]

{5}, Putatick(¥) for the éondition(s)hathe plant fiséd(s) to growat this stage..

| Conditionis |

Tick (") |

Al

Food

Water

 Suniight

]

BP-~664
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BP~665

Pater conducted an experiment to find out the flexibili ity of materials K, L and M. He
hung identical masses oh both ends of a rod made of materfal K as shown in the
diagram.

materiafl K

[

[:3 mg‘ss_—'—:] ,-

Before After

He added equal masses.on both ends of the rod until it started to bend. The
experiment was.repeated using rods made of materials L and M. He recorded the:
results in the'table.

Material | Total number of masses added until the rod started to bend
K 2
L 12
M ) 8

He would like to use ong of the three materials, K, L or M, to make part X of a waist
pouch as shown in the diagrams.

Which material, 1 1. or M, will be the most suitable for making part X2
Explain your answer,. (2]

Scors: | 3

30 P3 Sofence EYE 2024
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s of“identical lengths. inade of different matenatg A 8, € and B, wers
_:plaeed Inte-ertray of eoloured water..

36.

The-diagran shows the amount of coloured water each strip absorbed after five
mimses.

rod

eoloured water

[‘f]

Least
- absorbent

[£:1] Btased on‘the. information, which material, A, B, C-or'D, is most suitable to-
v 4 a.mopto clean up a puddle of water mostquuckly?
Explairi yourahswer, {21

k-
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37.  Clara made an electromagnet by cotling wires around a rod. She used identical
batteries, rods and wires in each of the four set-ups as shown.

VARVAN VARV AV
rod E rod F

Set-upE Set-up F

A NN /\\/\\/\\/\\ f\\/\ \L\\/‘\\/\\f\\
BYAVEvE VARVAVAVAVAAVAVAVAVAV |
rod G rod H
Set-up G ‘ Set-up H
(a) Name a suitable material that can be used fo make the rod. 1]
_ Scoré 4
Contintie on page.33

32 P3 Sélence EYE. 2024
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‘Continved fror page 32
(b} Arangethestods, E,F, G and H; aceording to its magnetic stéength starting
' froni:the strorigest to the waakest, [1]

Stongest. . T Weakest

{
e

Clara chiose sét-ups G and H to fitid-out if thé number of coils around a rod affects
the:strength of the-electromagnet.

1¢) Suggest'a change thiat Clita shiould Make to the setup(s) suéh that the
experitment is-afair test. [1}

Clara brought rod @ near a box:df steel pins. She observed that rod Gatiracted
Séven steel pins.

{d)} Wrod Giis made-of aluminium; predictthe number of steel pins it cani attract.
Explain your answer, [

e Seore | 3
Erid.of Paper o8

% P3 Sojerite EYE 2004




SCHOOL RAFFLES GIRLS’ PRIMARY SCHOOL
LEVEL : PRIMARY 3

SUBJECT : SCIENCE

TERM 2024 SA2

Q25)

Living things --- Butterfly / Plant
Non-living things --- Robot/ Train

Q26)

a)Q and R
b)Size of container

Number of organism X

Q27)

a)X: reptile  Y: mammal
b)Animal Y, because Animal Y and Animal B both have hair or fur for its
outer covering,

Q28)

a)S does not lag its egg in water but U lays its eggs in water.
b)Animal T lays its eggs in water and it does not have a hard outer
covering.

Q29)

a)True b)False c)False d)True

Q30)

a)} M: By spores
N: By spores

b} i)There is presence of water on the bread in Bag K but no water
on the bread in Bag L which caused the mould to grow on the
bread in Bag K.
fi)He could have not put on the drops of water and to ask i.

Pel
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a)

Nym pH e Adult

b} The ¢cockroach

Q32)

a) Atthe larva stage,because at that stage, the larva will eat a lot of
Jeaves for it to become a pupa, and eating the leaves of gardens
will cause the plants to wilt and so it will become a pest to
gardeners.

b) 39 days.

Q33)

a) Stage D.
b) Band D

: Q34)'

a) The young
b) Air/ Food/ Water

| @35)

Material K. Least masses were added to Material K until the rod started
to bend. It is the most flexible material so it can go round a person’s

| waist.

Q36)

ajbp,B,A,C

b)D. It is the most absorbent of the coloured water. it is the most
absorbent material to make into part X of the mop to keep the floor dry
the fastest.

Q37)

a) Steel.

b) H,G,F, E

c) Clara should take out one of the batteries in set-up H such that
the experiment is a fair test.

d) Aluminium is a non-magnetic material.
Only magnetic material can be magnetised.

Pg 2
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